                                Өздік 
           I - нұсқа
1. Қосуды орыңдаңдар:
1) -9+(-0,3)
2) -6,3+(-2,17)
3) -15-(-30)
2. Айырманы орындаңдар:
1) 
2) 
3) -8-(-;
3. Көбейтуді орында;
1) -15*(-6)
2) 2*(-35)
3) 24*(-9)
4. Өрнектің мәнін табыңдар
1) (-11)²
2) (-4)³
3) (-
5. Теңдеуді шешіңдер
1) (-12)*(x+6.7)=0
2) (26.9-x)*8.1=0















жұмыс
          II - нұсқа
1. Қосуды орыңдаңдар:
4) 9+(-0,3)
5) -6,5+(-2,15)
6) 15-(-30)
2. Айырманы орындаңдар:
4) 
5) 
6) 8-(-;
3. Көбейтуді орында;
4) 15*(-6)
5) -4*(-35)
6) 34*(-9)
4. Өрнектің мәнін табыңдар
4) (-12)²
5) (-9)³
6) (-
5. Теңдеуді шешіңдер
3) -76,3*(x-6.)=0
4) (12,3+x)*10=0

